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‘The function f(x) is defined as f(x) = (x — 2)(x — 6)

() Sketch the graph of y = f(x), showing clearly the coordinates of the points where
the graph intersects the coordinate axes and the coordinates of the turning point.

(b) On separate diagrams sketch the graphs of:
@) y=f(x—4),
(i) y = f(—x).

31

In each case clearly show the coordinates of the points where the graph intersects

the coordinate axes and the coordinates of the turning point.
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‘The diagram below shows the graph of y = f(x).
The point P has coordinates (a, ), where a, b > 0.

Interms of a and b write down the coordinates of the image of point P under the
following graph transformations:
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A curve has equation y = f(x).
of the curve given by the equations below:

y=f+2
y=1lx=2)
y =3f(x),

¥ =f@.
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A curve has equation y = f(x).
Write down the equations of the curves, in terms of f(x), given by the following )
transformations:
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The point £(2,6) lies on the curve with equation y = f(x).
State the coordinates of the image of point P on the curves with the following equations:
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ApointP (~2,8), on the graph of y = f(x), is mapped to the point P’ under asingle

‘ MULTIPLE POSSIBLE ANSWERS FoR AL
For the following coordinates of P’ write down what the transformation could have
been:
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Point P has coordinates (3, =4) and lies on the curve with equation y = f(x).

Write down the value of @given that: \) TRANSLATION BY ( -06 )
() Onthegraphofy = [(x +@), point P is mapped to point P'(=

3, f(x+6)
(i) Onthe graph of y =@f(x), point P is mapped to point P'(: ), - b
(iii)  On the graph of y = f(@), point P is mapped to point P'(=3, —4). az
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